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The figures in the right hand side margin indicate marks.
Candidates are required to give their answers in their own words

as far as practicable.
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1. Answer any five of the following questions: 2x5=10
@ I AABle 2AeaF Ted WG 2
(a) Point out two important characteristic of Indian Society.
OISR e g @Y Srard Tl |
(b) Define caste.
Go-aq YRl 1S |
(c) Who are called tribe?
Toeife Fom @ 22
(d) What are industrial relations?
fm 5 F I A2
(e) Define the term ‘Agrarian class’ in your own word.
F5 e’ *=oa =g Foew e[ @l
(f) What in kinship terminology?
eifo TR T @S H I ?
(g) What are the various kinds of ‘Kin’ in Indian Society?
wliFeRl e fifen @ wifoul i He
(h) Why religion is an important aspect of Indian society?

SR TS @ @ @ wwesd [@we

2. Answer any four of the following questions: 5%4=20
@ @) SIFG 2vas Ted WS ¢
(a) What are the negative effects of caste system on Indian Society?

SIS AN &6 FITE (AT e adfa S |
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(b) Point out the major types of Indian agrarian classes.
iAo FIF @l o qgmafy i Fie
(c) Discuss in short the main problems of Indian Tribe.
lAce Soeifor@ o APl sRemesl 90 |
(d) What are the important factors of change in Village structure in India?
TIRCS A FIENT ARTEET o1 Feasfr F e
(e) Discuss in brief the major patterns of kinship in Indian Society.
SIS AN G SIIZA 6T qq1afe] FRewest Il |

(f) Write a short note on the political role of religion in India.

TIACe (a Ao S B2 @b MFEFY TRFl @0 |

3. Answer any one of the following questions:
& (@l GG A TR Wi 3
(a) Discuss briefly the growth of Sociology and Social Anthropology in India.
SIS TEeg @ ANIfET Tored Tud ¢ R Aewest 3¢ et |

(b) Write a short note on the role of trade unions in Indian industries.

TR FEPIEE Wi AN SREE o @I BiFl @Il |
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